
 

1.  How many days are in a week? 

 

 

(a) 5       (c) 3  

 

(b) 9                                            (d) 7 

 

 

 

2. Look at the picture below. Who is between David and Sally? 

 

 

 
 

 

 

(a) Adam       (c) Anna   

 

(b) Ken                                    (d) Joanne 

 

 

 

 

 

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

www.onlinemath4all.com


 

3. What is the next number of 15? 

 

 

(a) Thirteen     (c) Fourteen  

 

(b) Fifteen                                   (d) Sixteen 

 

 

4.  In the below picture which row contains more fishes? 

 

 

 
 

 

(a) Row 1             (c) Row 2   

 

(b) Both are equal                              (d) Sunday 
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5.  In the below picture the number of cows is ___________ 

     To number if horses. 

 

 
 

   

                                        

(a) Equal        (c) Less than   

 

(b) Greater than                          (d) Not equal 

 

 

6. How many side does the rectangle have?  

 

 

(a) 8                (c) 3   

 

(b) 4                (d) 5 
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7. How many pair of shoes in the below picture? 

 

 

                    
 

 

(a)Two                                   (c) One  

 

(b) Three                                 (d) Four       

 

 

8. How many flowers in the below picture?  

                          
           

                                             

(a) 3                                            (c) 4 

 

(b) 5                    (d) 6 
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9. There are totally 5 people. Still how many persons need to join 

with them to make 8 people 

 

 

(a) Two          (c) three    

 

(b) Four                (d) Five 

 

 

10. What should be the next shape in the below picture?  

 

 
 

 

(a) Circle                                      (c) Star    

 

(b) Rectangle     (d) Triangle  

 

 

 

 

 

 

 

 

 

 

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

www.onlinemath4all.com


 

11.  Mother wants to prepare lemon juice. For one cup of juice it 

will take 2 spoons of sugar. If she wants to prepare 2 cups of 

juice then how much sugar does she need? 

 

 

(a) 7                                          (c) 6  

 

(b) 4                                   (d) 5 

 

 

 

 

12. How many candles are in the cake? 

 

                                
  

 

(a) 1                                            (c) 2    

 

(b) 3      (d) 6    
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13.  How many words does the word “ALPHABET” contain? 

  

 

 

(a) 10                                         (c) 12  

 

(b) 8                                          (d) 3 

  

 

14. How many shaded portions are in the below picture? 

                          
 

 

 

 (a) 2                          (c) 4 

 

(b) 3                       (d) 5  
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15.  Write the total number of cakes using addition statement  

 

 

 
  

(a) 3+4=7          (c) 8+5=13  

 

(b) 2+4= 6           (d) 9+5=14  

 

 

 

16. In the below picture bicycle is just before the ________ 

 

 
 

(a) Gift box           (c) Truck 

 

(b) Gas balloon              (d) Scooter  
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17.  What is the shape in the middle  

 
 

 (a) Triangle                          (c) Square              

 

 (b) Pentagon      (d) None of these  

 

 

18.  How many frogs are in the below picture? 

 

 
 

 

 (a) 3                                          (c) 8 

 

 

(b) 5       (d) 7 

 

 

 

 

 

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

w
w

w
.o

nl
in

em
at

h4
al

l.c
om

www.onlinemath4all.com


 

19. Fill in the missing number to complete the number bond. 

 

 

  

 
     

 

(a) 3                                            (c) 4  

 

(b) 2                     (d) 5 

 

 

 

20. What is the answer for the following 100+2 =  _______ 

 

 

 

(a) 109                                         (c) 122  

 

(b) 102                    (d) None of these  

 

10 

8 

? 
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21. The below picture represents the fraction of _________? 

                                    
 

 

(a) 1/5                  (c) 1/2  

 

(b)  1/6             (d) 1/4  

 

 

22.  

 

 

 
 

 

In the above picture, how many portions are shaded in red color? 

 

 

(a) 2       (c) 8   

 

(b) 3                (d) 4 
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23. 1 Nickel = ________ Cents   

 

 

(a) 8                                       (c) 7     

 

(b) 9                (d) 5 

 

 

 

24. The Anna wants to buy a rose costs 6 Cents. If she has 1 

nickel then how many Pennies does she need to buy the rose? 

 

 

(a) 7               (c) 1 

 

(b) 8             (d) 5  

 

 

 

25. If one pencil costs 2 cents. Then what will be the cost of two 

pencils?  

 

 

(a) 4 cents                   (c) 5 cents  

 

(b) 6 cents             (d) 7 cents 
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26. If Jack subtracts 18 from 21, what will he get? 

 

 

(a) 2       (c) 3  

 

(b) 7             (d) 5  

   

 

 

27. How many number are more than 500 in the below picture? 

 
 

 

(a) All four           (c) 2 

 

(b) 1      (d) 3 

 

 

28. Solve the problem below 

 

2 dimes and 1 nickel =   

 

 

(a)  1 quarter         (c) 1 cent  

 

(b) Half dollar     (d) None of these  
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29. What is the fraction form of the below picture? 

 

 
 

 

(a) 1/2           (c) 1/4 

 

(b) 1/5       (d) 1/9h  

 

 

 

30. 10 pennies = ______ dime 

 

 

(a)  2                     (c) 1  

 

(b) 3      (d) 4  

 

 

 

31. In a Lodge each room having one fan. If the lodge having 5 

rooms, then how many fans will be in the Lodge.   

 

 

(a) 6             (c) 5 

 

(b) 4                                    (d) 8   
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32. Gerald made a pizza with 4 equal slices. He put olives on 3 

slices of the pizza. What fraction of the pizza had olives? 

 

 

 

(a) 1/3        (c) 1/4 

 

(b) 3/4        (d) 1/2  

 

 

33.  Identity the shape given below 

 

 
 

(a)   Rectangle     (c) Circle  

 

(b)  Square           (d) Triangle 
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34.  The number of Tortoise is _________  the number of Ducks  

 

 
 

(a) More than                    (c) Less than 

 

(b) Equal              (d) None of these  

 

 

 

35.  Edward is 5 years elder than his sister. If the sister’s age is 

10 then what is the age of Edward? 

 

 

(a) 15     (c) 17 

 

(b) 20     (d) 25  
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36.  There are 11 birds in the garden. If five of them died then 

how many birds will be alive? 

 

  

(a) 5                                     (c) 6  

 

(b) 8                     (d) 3 

 

 

 

37. How many Gorillas are in the below picture? 

 

 

 
 

 

(a) Ten     (c) Five   

 

(b)Three                            (d) Seven 
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38.  There are __________ dots in the below picture 

 
 

 

 

(a)  2     (c) 3 

 

(b)  4     (d) 5 

  

 

39.  If john’s birthday is on Sunday. If today is Wednesday then 

how many days does he have for his birthday? 

 

 

(a) 3                      (c) 7 

 

(b) 6        (d) 8  

 

 

 

40. In the following which represents the value 2? 

 

  

(a) 2-7            (c) 5-3 

 

(b) 3-8            (d) 4-3  
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41. What will be the number just before 99? 

 

 

(a) 88              (c) 98 

 

(b) 100        (d) 89  

 

 

42. Anna has two pet animals, and sally has three pets then who 

have more pets?                           

    

(a) Anna             (c) Sally 

  

(b) Both of them           (d) none of these  

 

 

43. Man A is 2 feet taller than Man B. If man B is 3 feet then 

what is the height of the Man A. 

 

 

(a) 2       (c) 3  

 

(b) 7             (d) 5  
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44. There are two pen stands. If one pen stand contains 3 pens 

and another pen stand contains 5 pens. Then how many pens will 

be there altogether? 

 

 

(a)  3                       (c) 5 

 

(b) 8               (d) 4 

 

45. Write the subtraction statement based on the picture given 

below 

 

     

     

(a) 8-3=5                              (c) 6-3=3 

 

(b) 5-1=4           (d) 8-6=2   
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46. In the below number of mushrooms if we have taken three 

mushrooms then how many mushrooms will be there remaining  

 
     

 

(a) Five      (c) Eight 

 

(b) Two      (d) Three  

 

 

47. What is the name of the following shape? 

                 

 
(a) Square      (c) Triangle  

 

(b) Rectangle     (d) circle  
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48. Count the write the number of cats 

 
 

                             

 

(a) 17     (c) 10 

 

(b) 15     (d) 18  

 

 

49. How many pair of penguin are in the below picture? 

 

 

 

(a) 7             (c) 6 

 

(b) 3               (d) 10 
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50. What will be the number after 12? 

 

(a) 11      (c) 13  

 

(b) 15     (d) 14 
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Answers  

 

 

 

1. d  2.c  3. d    4. a  5. a  6. b   

 

 

7. b  8. d     9. c  10. a  11. b  12. a 

 

 

13. b  14. a  15. b   16. d  17. c  18. a 

 

 

19. b  20. b  21. d   22.a   23. d  24. c 

 

 

25. a  26. c  27. c   28. a  29. b  30. c 

 

 

31. c  32. b  33. d  34. b  35. a  36. c 

 

 

37. b  38. b  39. a  40. c  41. c  42. b 

 

 

43. d  44. b  45.  a 46. d  47. b  48. c 

  

 

49. b  50. c    
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